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Time : 3Hrs. Sem. III - Chem. Engg.
Physical Chemistry
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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11.

e wfiavvr &l Fard | faga aes 9d
&1 Affpar 3R SU» yfawd & A< &
ug W gad N |

OR (3721d1)

Find the pH of an aqueous solution of 10 M NaOH.

108 M NaOH & STefiil ol &1 pH A9 &1l |

Write short notes on any two of the following
(1) RMS velocity

(i1) pH scale

(ii1) Solubility product.

8
frfafaa & 9 fed a1 wR dféra fewofi
fora—

(i) MRoTHoYHo AT
(ii) pH ¥l
(iii) ger-T2ierdr ordh

0T3007

(i)

(iii)

(iii)

(iv)

3 14305

sfiaa 9d 9 99 Zn 3R Cu @) sddcls

SIEY ol @ df soldgTa g8dl 8—
(31 Cu¥ Zn

(@) Zn¥ Cu

(&) (@) vd (q) <t

() 399 4 BIg TEI

The phase rule was deduced by:
(a) Rutherford

(b) Ostwald

(c) Gibb's

(d) Thomson

Phase rule f&ast ufaurfea fear om—
(31) Rutherford

(#) Ostwald

(%) Gibb's

(%) Thomson

The pH of 0.001 M NaOH is :
(a) 4

(b) 11

(c) 12

(d) None of these

P.T.O
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GROUPC

Answer all Five Questions.

g uig g & SR o

7.

8x5 =40

Prove that the lowering of vapour pressure is directly

proportional to the osmotic pressure.
8

g P & a1 T &1 a9 IREXP <19
@ ¥fier argura ¥ ghar 2
OR(37214T)

State and explain Le-chatelier's principle.

dT—vmaferd &1 Rigia |1 87 S&! aaredm
N |

Derive the vanderwaal's equation.
qisxdred & GHIBROT BT Ui B |
OR(3721dT)

The rate constant of forward and backward reaction
of reversible reaction are 102 and 10 respectively.
Calculate their equilibrium constant.

0T3007

(vi)

(vii)

(vii)

(viii)

5 14305

faera srgeaes &1 g fraw 32—
(@) wW=Q

(¥) W=2zn

(|) W =Zct

(]) 39 4 BIg T8

Which expression represent equilibrium
constant for the reaction2A + 2B=C
[C]

(@A B]

[C]
(c) [C][ A] [B]
(d) None of these
fa=faRaa sl d 9 A1 yfafear
JA+2B=C & G Reri® &l
frefad et 87

[C]
(37) (AT B]

€]
@) AFTBY

(|) [CI[A][B]
() 79 4 DIs T8I

Which of the following is a colligative
property?

(a) Elevation of boiling point

(b) Optical activity

(c) Irreversible reaction

(d) Reversible reaction

P.T.O
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4.

What do you mean by the term elevation of boiling

int?
point? 4

FGATId & S~ I AT FT GHSA 2 ?
OR (3121d)

What is difference between Ideal gas and real gas?

eyl 49 ud ardfde 49 ¥ 1 AR 2°
ATEAT B |

For the reaction , PCl; ==PCl,+Cl,-22 kCal.
What is the effect of pressure on the equilibrium

mixture?
4

gfafsar, PCl, == PClL,+CL,-22 kCal. & g |=a
o1 R TI9 ST FT Y919 g<Sdr 2?7

OR (372rd)

What do you understand by velocity constant?

47 Rerxie A 3y T U3 27

0T3007

(x)

(xi)

(xi)

(xii)

7 14305

frfaRaa & o9 g sife @)
ifforar 27

(31) PCls=PCI;+Cl,

(8) 2HI ==H,*],

(3) 2N,0= 2N,+0,

(]) 3 4 BIs A8l

Which of the following is the strongest
reducing agent?

(a) Hy

(b) Cr

(¢c) Zn

(d) None of these

fifed & 999 99 ATPRD B 8?2
(31) H,

@) Cr

(|) Zn

(]) 37 A ®Ig T

When pH of a solution increases its H" ion
concentration.

(a) Increases

(b) Decreases

(c) Remains constant

(d) None of these

P.T.O
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(xx) 10m1§ HCI faera= & 90 ml stel Rrems
W T faeras &1 aafad) giefi—

@) 3
@
@

() 9 4 PIs I

GROUPB

Answer all Five Questions.

Il uig gl & SR o

2.

4x5=20

What do you mean by reversible and irreversible

reaction?
4

Iepaefi vd gl gfafear 9 amu s
s ® ?

0T3007

(xiv)

(xv)

(xv)

(xvi)

9 14305

faga gfgewor 4 gg arg 9ad 2
(31) dears

@) wis

(\) (@) vd (9) <

(?) ¥ 9@ o1 T

The molar concentration of x, y and z are
2,2 and 4 respectively in the reaction

x + 3y = 2z The equilibrium constant of
the reaction is

(a) 1

(b)2

(c)3

(d)4

affpar x+3y =2z & x,yderm z®
AR AT $HHI: 2,2 3R 4 2|
IFftfpar o1 9 ReRris @

(@) 1

@) 2

(|) 3

(]) 4

For reducing 1 mole of Cr, O, to Cr ™ the
charge required is

(@) 3x 96500 C

(b) 6 x 96500 C

() 9x 96500 C

(d) None of these
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